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case Constl:

statements
break

case Constl:

— switch(expression)

statements
break

default:

statements
break
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{

case constl:

case const2:

[ default :
}

[
[
[
[

statement |

Switch ( expression )

statement ; |
break ; ]
statement ; |
break ; ]




Switch oy b ) =

Case a Action(S)

N

Case b Action(S)

N

Case e Action(S)

e

=z P
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< < <

default Action(s)

break

break

break
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Switch s L i)

Case a Action(S)

|

Case b Action(S)

Y

Case e Action(S)

:

default Action(s)
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switch (x) {

case 1:
cout <<
break;
case 2:
cout <<
break;
default:
cout <<
unknown" ;

}

"x is 1";

"x is 2";

"value of x

s Panbp e

if (x == 1) {
cout << "x is 1";
}
else if (x 2) {
cout << "x is 2";
}
else{
cout << "value of x
unknown" ;

}




int main{)

int score;
cout << "Enter your test score: "; cin >> sScore;
switch (scorxre/10)

case 10:
case 9: cout << "Your grade i= an A." << endl; LOGICAL ERROR
case 8: cout << "Your grade i= a B." << endl; LOGICAL ERROR
case 7: cout << "Your grade i= a C." << endl; LOGICAL ERROFE
case 6: cout << "Your grade i= a D." << endl; LOGICAL ERROR

— -
case s

- - .
case S.

- - .
case <.
-~ = s B
l-’as.: —

— ™ - -
case LU: Ccou

Enter your SCOoPe :

Your grade B.
Your grade C.
Your grade D.

Your grade is an F.
S Lo Error: score is out of range.
CsAPANLLR U Goodhye .




int main()

int =score;
cout << "Enter wyour test =core: "; cin >> =core;
switch (score/10)

case 10:
caze 9: cout << "Your grade iz an A." << endl; break;
case 8: cout << "Your grade i a B." << endl; break:
case 7: cout << "Your grade iz a C." << endl; break;
case &: cout << "Your grade iz a D." << endl; break;
case 5:
case 4:
case 3:
case 2:
case 1:

case 0: cout << "Your grade is an F." << endl; break;
default: cout << "Error: score is out of range.\n":;

}
cout << "Goodbye." << endl;

} Enter vour
our grade

_uudhye.
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int main()
int =score;
cout << "Enter wyour
switch (Score/10)
case 10:
case 9: cout << "Your
case 8: cout << "Your
case T7: cout << "Your
case 6: cout << "Your
case 5:
case 4:
case 3:
case 2:
case 1:
case 0: cout << "Your
default: cout << "Err
¥
cout << "Goodbye." <<
}

Cest sScore.

grade is=
grade is=
grade 1i=
grade 1is=s
grade 1is
or: score
endl;

"r oin >>» =Score;

an A." << endl; break:
a B." << endl; break:
a C." << endl; break:
a D." << endl: break:
an F." << endl; break:

iz out of range.‘\n";

Enter your test score:dd

QQM¢QM¥%QQQD

Your grade iz an F.
Goodhbye .
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Enter two integers: 3 5
Enter an operator:
i
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ginclude <iostresmm:
1S 1ing namespace std;
int maini) {
int X,v:
char op;
cout << "Enter two Numbers: ";
cin >x> X x> y;
cout << "Enter an operator: ;
cin >> op:
switch (op)

case '+': cout << X 4+ v << endl; break:
case '—-'@1 ocout << X - v << endl; break:
case 'F' ocout << X Y v << endl; break:
case 'S'r cout <<€ ® F vy << endl: break:
case 'T'loocout <<€ X % v << endl;

Enter two integers: 3 5
Enter an operator: +




h
Hinclude <iostreatm: ...4XJ)J_>J

using namespace std:
int maini(){
int =,%v:
char op:;
cout << "Enter two Nunkbers: ™
cin > ¥ oxx W2
cout << "Enter an operator: ":
cin >> op:
awitch (op)d

case '+': cout << X 4+ v << endl: break;
case '-':@: cout << ¥ - v << endl; breask;
case 'T' opout << X f oy <« endl: break;
cage 'S oout €< ¥ f v << endl; break:
case ':': omout << X ¥ oy << endl;

(530)9 33 0 sy )libel £o3 el O)g0 ) —
Oglate S0 W § O 539)9 )3 asiz e elss Jwols

Enter two integers: L 3 Enter two Humbers:

6666/

Enter an operatop:
alao
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using hnamespace St
int maini){
flaot =x,v:
char op:
cout << "Enter
cin > X Fx OW:

ginclude <iostreson:

d;

two Mumbers: M

cout << "Enter an operator: T;

“in »>> ap:;

switch (op)
case '+': cout << ¥ + v << endl: break:
caze '-': cout <4 X - ¥y << endl; break:
caze '*!' cout <4 X Y oy << endl;: break:
case 'S'r cout <<€ x Ff v << endl; bhreak:
case ' cout << X 3 ¥ << endl;

h

h
error CZ29¢: '%' : illegal, left operand has type

error C2237: '%' : illegal,

right operand has type

"float'
"float'




While csaih =—

As long as the expression is true

statement

while | expression )
statemant

// loop body
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$#inc
using namespace =td;

int main ()

{
int n;
cout << "Enter the starting number > ";
cin >> n;

while (n>0) {
cout << nn << ", ";

cout << "FIRE!'\n":
return 0O:
S nter the starting number > 18
CS‘UDQ)Mb g, E’ .?’ E" 51‘ 41‘ 3: EJI 111 FIHE!
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int main{()
{ int n,i=1;
cout << "Enter a positive integer: ";
cin >> n;
long =sum=0;
while (i <= n)
sum += i++;
cout << "The zum of the first " << n << " integerzs iz " << zum <<endl;
}

nter a positive integepr: 8
he zsum of the first 8 integers

0
1
2
3
4
)
6
7
8
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s=1+12+1/3+ -+ 1/n

— Sum<«Sum+1/i
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#include <iostream>
using namespace std;
int main(){
float bound;
cout << "Enter a positive number: ";
cin >> bound;
double sum=0;
int 1=0;

while (sum < bound)

sum += 1.0/++i;

!
cout << "The sum of the first " << |

<< " reciprocalsis" << sum << endl;

i—i+1

Sum«—Sum+1/i

- Enter a positive integer: 3
OISOV v =um of the first 11 reciprocals
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int main/{)
{ double x;

cin >> X;
while (x > 0)
cout << "=sgrt(" << x << ")

cim B oM:

grtcd4?y = 7

Enter another positive
sgprt(?>» = 3

Enter another positive
sgqrt(81> = 9

Enter another positive
zgqrt (34> = L_83HU?5
Enter another poszitive

csuRPanlp csSlw

cout << "Enter another posi

cout << "Enter a positive number: ";

= " < =grt (x)
(or 0 to guit):

tive number

3 Enter a positive numbher: 49

numhbhe
numbe r
numbe ¥

numbe

<< endl;

gquit>: 7
gquit»: 81

gquit>: 34

quit>»: H

T =

r




cmath (math.h) =-—

L @193 )l sshad Jaliv BlayiEs o) @
NIy
— fabs(x), abs(n)

—sgrt(x), pow(x,y)

—cell(x), floor(x)

—exp(x), log(x), 10g1l0(x)

—sin(x), cos(x), tan(x)

—asin(x), acos(x), atan(x),
atan2(y,X)

gy CMaAth Cs A @ =

Velocity = \/vg +2a(X—X,)

velocity = sqrt(pow(v0,2) + 2*a*(x - x0)); K2
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do-while
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statement

MU0 olas ; U 040 Lads dO-while (saidls

As long as the expression is true

-

Do Something
do

while ( expression ) ;

l statement

Y

Condition

= . - > - /0 = - y[ F
D~ o)(ﬂ[./lCJ;l.J/',QL.Oo cj./?/’[/) CJ_J/’ O—gnﬁb‘/)/” L &
Pl oo




(i) do-whirle
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$include <iostream>

using namespace =td;

int main ()

{
un=igned long n;
do {
cout << "Enter number (0 to end): "

cin >> n;

cout << "You entered: " << n << "hn":
} while (n !'= 0); Enter numbher (A to end):
return O: ou entered: 23
Enter number <H to end>»:

} ouw entered: 3

Enter number (H to end):
ou entered: 2

Enter numbher (H to end):
ou entered: H
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do-while
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. (do-while

int main()
{ int n,1=0;
cout << "Enter a positive integer: ";
cin >»> n;
long sum=0;
do{
Bum += i++;
!
while (i <= n);
cout << "The sum of the first " <{ n << " integers 13 " << sum << endl;

!

Enter a positive i1ntegep:
he zum of the firzt 8 integers

36

is
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As long as expression is true

r— break;

statement, which follows the loop.
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int main()

{ int n,i=1;

cout << "Enter a positive integer: "
cin »» n;

long sum—=0;

while ([(true) ]
Lf (1 > m) b:eak;’fﬁ terminates the loop immediatel
sum += i++;
]-
cout << "The sum of the first " << m << " integers iz " << sum <<endl;
]-

Enter a positive integer: 8§
he sum of the first B integers iz 36

Enter a positive integer: 1HH
The zsum of the first 188 integers is 5HHE58
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0
1
Fn—l+Fn—2
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F

3

F,=F, +F, ,=F +F,=0+1=1
=F, +F,_,=F,+F=1+1=2

F,=F, ,+F, ,=F,+F,=2+1=3
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